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( ( English‘ Version )
s B
|
; Instructions : i) _The question paper consists of Jive Parts A, B C D and E. Answer
[ all the Parts.
; ii)  Part - A carries 10 marks, Part - B‘ carries 20 mafks, Part - ¢
P . . carries 40 marks, Part - D carries 20 marks and Part —~ B carries
J ' ' | 10 marks.
i - 111) Write the question numbers properly as mdlc‘ated in the question
| ' paper. '
3‘ .
i : : o ' PART - A
§ Answer all the ten questions : o 10x1=10
1. Negate “If it rains then the college remains closed”.
L2 "Cs="C,. find e, .. ‘
| 4001 4002
i 3.  Evaluate - :
- 4003 - 4004
; ' 4. Find the fourth propoi‘tiona] to 2,6, 5. -
: 5. A bill drawn for 6 months was legally due on 10. 10. 2013. Find the date of
dramng the bill. . ‘

6. Define yield.
,: 7. Find the length of Latus Rectum of the p.arabbla y?=12x
; ' 4 Bx _
i 8. - Evaluate: iim g*"ﬂ—_l .

x— 0 X
9. -If = xe=+ e*, find dy
oy = , L 9y
10. Evaluate L1y
10. valuate : hal L3 | dx

L IR
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PART - B
Answer any ten questions : _ : 10 x 2 =20
. 11. If pis true and q is false, find the truth value of ~ p - ~ q.

12. There are 14 points in a plane, out of which 3 are collinear. Find the number of

straight lines you can make.

13. Two dice are thrown simultaneously. What is the probability:that the sum is 8 7

2 3
14. If A= Cfind A.AT
4 6

15. Prove that the value of the determinant does not change if all the rows and

columns are intercharged.
. 6
 16. Find the middle term in the expansion of ( 2x - ,1); ] using binomial theorem.
17. Find ‘the equation of a circle whose diameters are x + y = 2, x-y =0 and
radius = 5 units.
18. Check whether the function :

X .
g_x_,_l_ when x=10

Six) = ~ | '
| 2*%10g,2 when x#0 ' '

is cbntinuous at x=0.

19 f y= 1+x2 provethat -}- (‘\‘1+x ] x-.

20, If s= \] —t, prove that velocity is inversely proportl(mal to distance.

8 - .
21. Evaluate : j Ndx + 7 dx.

2 .
22. Evaluate J log x . dx.
. : ,

(T (22469 | | Page 10 of 15
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PART - C )

1. | Answer any three questions : ' i F | - .8 A5 =15
23. Verify that (pA q) - (pVgqg) isa tautolog)z.‘
24, Find the nur;lber .of permutations of the letters of the word MISSISSIPP].
i) How many of them begin with M ? )
i) 4 S's are together.
- i) 4”8'5 are not together.

3x+ 5

X (x+1)(x+2) into partial fractions.

25. Resolve

26. Solve the following equations by matrix method :

‘x+y+z =6
x+y-z =0
g L.~ Answer any two questions : , . - 2%.5 = 10

27. a)l 2 taps separately fill the tank in 12 minutes"and 15 minutes
; : L : respectivély. The iank when full can be emptied by a drain pipe in
20 minutes. In what time will the tank be filled up if 2 taps and one

| o drain pipe are opened simultaneously ? - . . 3

L b)  Find the duplicate and triplicate ratio of 2 : 3. 2
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" Subject Code : 75
28. How much must be invested in 14:25% stock at 98 to produce the same

income as would be obtained by investing Rs. 9,975 in 15% stock at 105 ?

29. ABC Company supplies engiries through an auction. The company finished
an initial drde;_of» 30 engines which involves 6000 direct hours at Rs. 15 per
hour. It is expected that the learning effect is 80%. Calculate the total cost

for the new order of 90 engines.
30. Soive the L.P.P. graphically :
: Max;mize Z=30x+ 4Qy
subject to the. constraints

3x+ 6y s 180

III. Answer any threé questions : ‘ . " 3x5=15

31. Define a parabola and derive the. equation of the parabola y 2 = 4ax.

u ‘ C du
32, If y={(x)9*+(log x)*, find d_)%

| | ‘ d2y._ _-24 _
33... .lf xy + 4y = 3x, show. that. dx2 T (x+ 433"

eldt
e2ty 3et+ 2

34, Evaluate:J

- URERUEben., (z2465] o Page 12 of 15
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PART - D

Answer any two questions : ' ' 2 x 10 = 20

35. a)

b),

b

36. a)
37. a
" bl

Evaluate ( 1+V2 ) 6 - ( 1 -2 ) 0 using binomial theorem. : 5

A box contains 7 red and 6 white balls. How many selections of 3 balls can

be made if

- ) none is red ?

if) exa_cﬂy one ball is red ?
iii)_ at least two are redl balls ? - |

iv) at most two are red Balls ? ' . : ‘ 5

n n

. x"_ a

Prove that im -
xo>a X—OQa

The volume of a spherical ball is increasing at the rate of 4n c.c./sec. Find
“the rates of increase of the radius and of surface area, when the volume is

) 288n c.c. a _ o 5

w

Solve for x if |

3x-8 3 3

3 3x-8 3 |=0 o 5

3 3 3x-8

Find the equation of the circle passing through { 1, '.-_4 )and (5. 2) and

has its centre on the line x- 2y + 9 = 0. 5

I - (22469 ] ~ Page 13 of 15
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"h38. - a)

b)

Answer any one question @

39. a

b)

c)

Find the area bounded between the curves Yy 2 - 4x and x2=4y. 5

What is the banker’s dischunt an

d what is the present value received in cash -

for a bill of Rs. 1,000 due on 18th February, 2013 if discounted on

7th December, 2012 at 15% p.a. ?

Expand { 0-99 ) * using binomial theorem up t

A chemist wishes to provide his customer at the lowes
daily requirement of 2

and N. The amount of each vitamin in one

5

PART - E
1x 10 = 10
o four decimal places. 4

minimum daily requirement are given below :

t cost the minimurﬁ
vitamins A and B by using a mixture of 2 products M o

gram of each product and the

No. of Units of each
Products Vitamin A vitamin B Cost per gram
M 6 2 | Rs. 20
N 2 _ 2 - Rs. 16 .
Minimum daily 12 - 8
requirement l

Express this problem in L.P.P. form.

A problem in Mathematlcs is given to two students A and B whose chances

- 1
- 6f answering are 5

problem is solved ?

AR

and —5 respectively. What is the probability " that the’

2

Page 14 of 15
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Calculate the average weight of 410 workers in a factory from the table givén

below : _ ' ‘ 4
Wet'ghts ‘ Frequency
10 — 20 | 56
20 — 30 38
30 — 40 - 42
140 — 50 - 64‘
50 — 60 . 80
60 — 70 60
70 —80 50
80 —90 . 20

If the demand function is'_'giver‘l by p = 50 — 2q, find the values of price at

~which the revenue i{s' maximum and the revenue corresponding to these

values ( g is output and p is the price ). : _ | 4,

~

Find the Banker's discount on a bill of Rs. 10,000 due in 9 months at

5% P.A. ' ‘ 2
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